L FEe b2t S o, 2a+ b 9] F2 Akl

@ 1+ V3 ® 2+ V3
® 2+23



2.

@ 2x2-4x-6 ® 2x2-5x-6

@ 2x2 —4x-2

® 2x2 —4x+1

@ 2x%2 —4x+3



Sl

2-2x-15=09 &+

>~

HFAJ A

]_

12

o

3.

@ x=-5E=x=3

@ x=-3

)
H

BEEx=1

X






5. V0.008 =avV5 & W, a & T35}t

bl Hia=



! —t

V- VB Va3

O V3 @ 23 ® 5 @ 25 ® 215



e § SUATA] Hi A B Zef)
@ x?-12x+48 © x2+8x+ 16
2 1
© X+ x4 — @ % + ldxy 4 45y°

3] 25




8. 9+ Awy +16° = (Bx+Cy)* & U, 0|5 Wt A A4
A, B, C o && 7517

O 28 @ 29 ® 30 @ 31 ® 32



9. 5<n<25 <, V60 o A47} H 24A% 0 o] gLS Fatolet,

R in=






11. A=3V2-1, B=2V3-1, c=3<4 1, A, B, C 2 4 FAE=
e o] 2t

5 J=X
=%



12, AZTEAA V3= 1732 L W, VI3 O gh& 24 AR Aol 4
wregstelel,

D R
=%



<0, ab< 0¥, \/a_2+\/b_2_ (_a)2+
r)

® a-b @ 2 ® a+b



oV

el
L,

a® = b® + a2b — ab>

@ 15 ® 18 @ 20 ® 24

O 13






